Newton method (ver.0)

goooon

OobobDOoobo0 fuboooooobboobooooboooboooooDf=00OOD
ubbobobodgboobbooboobod

OD00fY=0000x000000000000 %000000fx000 (X, f(x)I000000
oooooooooo

100 = F06)(X= %) + f (%))
00000000000 x00000 x00f(x=000

%)
%= 00)

000x 00000f)000 (%, f(x)D 0000 y
0000o000o0o0o0oO

f00 = £/ () (x=%) + (%)
00000000 xO00000 %00fx=000
f(x)

2= 70
goooooooon f(X)=ODDDDDDDDDI]
0 /
O00OxU xqoooooooooo // /Xz /Xl s X
f(x)

X=X~ f,(xl)

0000000000000 0 x000O000000000X%0 %000 000 |%,,-%]
000000000000000000L00000000 %x,0000x0000000
000{000000000000000000000000

gbbogboboobboobobuooboobobuoobboooboobobooooobbooboon
gbbooobuodgboobboobbooobuoobboobuooboobooboboobobooboobo
gbboobuodgboobobodobooboobboboobboobooboobooboobo
ugboboooboaaoo

1/1
Power Electronics Lab.-B



